
Answers – Spelling 
 

WALT spell words with the suffix ly 

 

 

 

happily 

nobly 

probably 

visibly 

gently 

crackly 

honourably 

humbly 

simply 

angrily 



 
3) 

proudly 

brightly 

Amusingly 

proudly 

spookily 

blindly 

anxiously 

adoringly 

ghostly 

bitterly 



Answers – Reading   Text 1 – Giganotosaurus 

 

1. Giganotosaurus was a large, meat-eating dinosaur.  

 

2. Giganotosaurus was probably known as the biggest hunter. The word probably means that it is almost 

certainly or possibly the biggest hunter.  

 

3. The clues that could have been left behind to suggest that the Giganotosaurus could have eaten very large 

plant-eating animals were the size of its teeth and the size of its bones.  

 

4. Yes, experts think that the T-Rex had heavier bones because it says in the text that the Giganotosaurus 

had lighter bones. 

 

5. I think it was named Giganotosaurus because part of the word ‘gigantic’ is in its name, which means huge 

or enormous, and it was probably the largest meat-eating dinosaur in the world. 

 

6. Children can respond with their own opinions but should refer to the text to support their answer. 

 

 E.g. I think the T-Rex might have been scared because the Giganotosaurus was bigger than T-Rex.  

 

 

 

 



Answers – Reading   Text 2 – The Iron Man Returns 

 

1. The events are taking place on the cliff-top.  

 

2. The two words that the author uses to describe the eyes are green and headlamp. 

  

3. Answers should refer to the idea that the boy is eager to get home quickly because he is scared. 

 

4. a) It tells us that the family are frightened of the Iron Man. 

b) Answers should refer to the idea that the Iron Man is probably very scary or dangerous.  

 

5.  a) I think the father was going to shoot the Iron Man or took the gun to protect himself. 

b) He locked the door so the Iron Man couldn’t get into the house to hurt his family. He wanted to make 

sure that his family was safe.  

 

6. The first farmer didn’t believe the father and laughed at him. The second farmer believed the father and 

seemed concerned because he frowned when he heard the news and suggested to go and see the Iron 

man. 

 

7. The men will use the foot tracks that the Iron Man has left in the earth to find him. 

 

 

8. We can guess that the Iron Man has tried to eat the tractor.  

 

 



 

 

Maths Arithmetic Answers 

1) 8 x 4 = 32 

2) 84 – 30 = 54 

3) 60 + 80 = 140 

4) 3 x 7 = 21 

5) 593 = 318 + 275 

6) 5 x 8 = 40 

7) 56 + 80 = 136 

8) 4 + 58 + 6 = 68 

9) 346 + 424 = 770 

10) 122 – 52 = 70 

11) 519 + 278 = 797 

12) 4 x12 = 48 

13) 563 – 237 = 326 

14) 48 ÷ 8 = 6 

15) 18 ÷ 6 = 3 

 

 

 

 

 



 
Maths Lesson 1 Answers 

 



 



Maths Lesson 2 Answers 

 



 



 Maths Lesson 3 Answers 

 



 



Maths Lesson 4 Answers 

 

 



  

 



Friday Maths Answers 

Dip and Pick Card 17 

 

 

 

 

 



Friday Maths – Money Problems 

 

 

3.      a) False  

 b) False  

 c) True  - £1 coin, 20p coin, 10p coin, 2p coin and 1p coin 

 d) True – two 50p coins, 20p coin, 10p coin, 2p coin and 1p coin 

   or    £1 coin, three 10p coins, 2p coin and 1p coin 

   or    £1 coin, 20p coin, two 5p coins, 2p coin and 1p coin 

   or    £1 coin, 20p coin, 10p coin and three 1p coins  

 


